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Question No. 001 - 300 (General Studies & Concern Subject)
Publish Date 06-07-2021

Last Date to Send Suggestion(s) 13-07-2021
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Instructions / ¥yl

Candidate must ensure compliance to the instructions mentioned below, else objections
shall not be considered: -

(1) All the suggestion should be submitted through ONLINE OBJECTION SUBMISSION SYSTEM only.
Physical submission of suggestions will not be considered.

(2) Question wise suggestion to be submitted in the prescribed format (proforma) published on the
website / online objection submission system.

(3) All suggestions are to be submitted with reference to the Master Question Paper with provisional
answer key (Master Question Paper), published herewith on the website / online objection
submission system. Objections should be sent referring to the Question, Question No. & options of the
Master Question Paper.

(4) Suggestions regarding question nos. and options other than provisional answer key (Master Question
Paper) shall not be considered.

(5) Objections and answers suggested by the candidate should be in compliance with the responses given
by him in his answer sheet. Objections shall not be considered, in case, if responses given in the answer
sheet /response sheet and submitted suggestions are differed.

(6) Objection for each question should be made on separate sheet. Objection for more than one question
in single sheet shall not be considered.

GREUR o{lA{l AUt UEtat sRclloll dAB el AMl, WoRAAUL clitil-f et I SA YA LUl AU o8]

(1) GRAEAR citi-YUsll §5ct Bllolcl el WoBsalet AoiHl2let AR H 6l % Uot{le scllell _2. 3043 el 2WAH
glRL ARNLe{l 5 A Msetall AUAA cAitl-Yoll Lol Aalil AUA olgl Boll Wit ollu Adl.

(2) GREAR ditl-Yuoll % 5l AnUE2 / WolcAl ot N0 s2ot A2t ke UR YRt UAde (At oiystioll
% GUAlL 2.

(3) GRAEAR Wellal UIlatil HAA YHUYRASIHT WA USSHLS Y0l clltll-3 Aol 9 ol $cll dAHIM clltdl-3 Uil
Aetge UR YRty A YUABAA loRAR 8l (HIR2R YsUA)oll Ysl sHIs Yool ol A Aealul % s:all.

(4) HReR Yl RlEwe ust wa [@scu Rlanastt diul-yuel ua Aol wuadl «i&l.

(5) GREAUR Usloll [AsEU UR il % 5 B Al [AscU 3U B w6l YAAA B A el GREUR Welloll Griradlu
AU S ANSA, GAEAR YUAA wellol A GriRaAdloll wellol (@l §3 Al GREAR 17 53 clltll-YUsll
€2llotHL Aclld o3l

(6) A UsL MR A % clltl-YUol Uas cllURd. As % clitll-yAol ussHi Asel auR yslls(l 29U st sA Al
Aol cAitil-YAoll LUl AL ot8l.

Website link for online objection submission system : http://150.129.165.5/GPSC_Suggestion/



001. 2011+ AU Yoot HIRAHL Alell Ay, el HAcdL s UAH AR AU & ?

(A) Grir ugal, usRN, (G812 (B) U812, BT U2, A¥A
(C) [B81R, uey uea, 2il3m (D) 8RR, [Bre1z, Gr uedl
002. 2011+ A-AA YO, MR- $UL APUHL Azl 8rdl (Density of population) Aldl A¥IR 2 Al
21191 69 ?
(A) [BrerR 24 eud =3 (B) [Br81R 21 x130uA4 e
(C) Brix U 244 2Alal (D) M1 B A 9dludns

003. DA aisul Ul su arsul 4oy 9 ?

1. 9RUd AU AWE AW, HEL UL, HSIREZ, Eld 2Ar EHRL d2ll ElERA WAR saAdlHl ueeq
el 9.

2. U AUl UL 1 H 19610 AY 24 8.
3. YAl ALERAL E (2011 L A~AA HAO6L) 78.03% €9 A 2011+ AU Horod AsA 2\l 919 ©.
(A) 1 11 2 sl Uiy €9, (B) 2 2l 3 cusUl uioy €9,
(©))1 24 3 sl ULy 69, (D) 1, 2 211 3 61419 ALSUL ALY 69,
004. DA causal UL suL ausul qlou €9 ?
1. el A7, 5 B A sRugHE A3 8 d A aiol DAL .
2. [2ecl), H{ors, A~ 2 slastu s aldim ageios Al Al 2uism 8.
3. HIcHL AL VUSAUA SIUA/MAAA VSAUA S1Ud-T AHELAE-AILEJU %3 8.
A)1,2 21 3 (B) 1 21 3
(C) 1 21 2 (D) 2 21 3

-\
.

005. ¢l o [AcUdl 24 d-L o Sgq sl

1. v a. slast

2. yd 4 b. 1Y

3. yd w g c. godl

4. el ulam e d. 4o - e9oula sl usier edl-a
(A)1-¢,2-d,3-a,4-b (B)1-b,2-¢,3-d,4-2
(C)1-2,2-b,3-¢,4-d ®)1-d,2-2,3-b,4-¢

006. 1A cusul AsRAL:
1. S tid- ustdl A%AHL cuIHA dldl 8l FoLdl 2udd 8.
2. ydaiz 214 ulm aeHl gl uR w16 oldl 2udd 8. wirviR Bl uiest Wil u 8.
3. [Bruaa-i G usist u A urRni d, sasl, Yedl, A2 g gail N uHwi 63t 6.
(A) 1 244 3 4129 89, (B) 2 i 3 A2y 89,
(€)1 241 2 Uiy . (D) 1,2 2 3 Uidu 8,
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007.

008.

009.

010.

011.

012.

DA cusul WS sy asa alou 6 ?

1. e saa susiella vdlui gaiR, suel, s Faust i 8.
2. 8B us 12 il vidl s odl- gl Gualdll ©.

3. RSN vidlall 9424, sw, aw, $idiR Fa wsld Gaug- i 6.
4. ouuAdl vidlHi AL, $15] P WS-l AHE 1d 8.

(A) 1,2 %4 3 (B) 1, 2 ¥ 4

(C) 2,3 x4 D)1, 2, 3 21 4

RURArL AU 241 d -l et (Capital) A 2194 dd A3,

1. v3RAE UL a. S2R

2. AN b. [Bay2

3. uldyR c. 9514

4. HEIQY d. [Qidia
(A)1-b,2-¢,3-d,4-a B)1-a,2-b,3-c¢c,4-d
(C)1-¢,2-d,3-2,4-b M) 1-d,2-2,3-b,4-¢

2ol (3ecuil (Fort) 24 AoiAd ad/uedi-l Adlail WA 59 sl aioy ) ?

(A) urslou $12 (Panhala Fort) — HSIR1M

(B) A3 818 (Golconda Fort) — SEALUE

(C) 48318 $1¢ (Mehrangarh Fort) — 1%

D) sid 51 (Kangra Fort) — t9tl1212

A2l ALsAL ASIRAL 20 SAL wsAL AU O ?

1. cuollRel €] uR sl 2udd gl $U (Tehri Dam) GURdAHE 2udd A G4 $H .
2. (3143 ¥ (Hirakund Dam) 2020 244 2044 © 214 d Al @ieil S,

3. cidlawst $H (Dantiwada Dam) 9AGH] 20dd O 24 d HELEl Gur .

(A) 1,2 211 3 cusl uloy €9, (B) 1 2 2 cusl Uiy €9,

(C) 1 2 3 cusul uldy 89, (D) 2 2 3 cusul ALY 89,

214212 (Tiger Reserve) 3ocl @A 24 A6iHld Aol Adl2 WA 56 A dl aloy 4l ?
(A)-43151 (Namdapha) — 248 e (B) uél (Pakke) — 30044 UL
(C) 2RI (Orang) — WA (D) S48l (Indravati) — £9T1A1S

“UAHA wud” QWL 3 ¥ HIRAAL A%[A& (Indian Emblem) A& Qv 2ud © d el A
A 89 ?

(A) de — Rigved (B) UdUYU ¢¥$RU — Satpath Brahmana

© {-LSS Gu-lae — Mundak Upnishad (D) A8 — Ramayana
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013.  GURcAL NvAld Fd USIR A Aoidld A%l ULy Ad A8l :

1. 5a% (Kathak) a. suguR

2. $2us 5dl (Kathakali) b. % U

3. $0ydl (Kuchipudi) c. 50U

4. B35 (Rouf) d. Gtk uga
(A)1-¢,2-b,3-a,4-d B)1-d,2-¢,3-b,4-a
(C)1-b,2-2a,3-d,4-¢ D)1-a,2-d,3-¢c,4-b

014.  <ugl (instrument) A1 Algs-l 58 A2 wiou 8 ?
1. AdR —Udld agHi axl
2. ARl — vl i
3. ofli — 2ug xell viur
4. A=slellA — ofloy qpuat s
(A) 112 B) 1 211 3
()1 21 4 (D) 1, 2, 3 i 4 618100 Q1Y 89,
015.  GIRcrll 2AAQ0-2 A AL AL 27 Al 018 AA AL A 5124 USL 51 A5 AU 8 ?
1. 2uuadl (Ashavali Saree) — AL%RUA
2. Nl@%lﬂ aldl (Baluchari Saree) — Gt el
3. olindl Al (Bomkai Saree) — il
4. sug Al (Kasavu Saree) — dtfla-iig
(A) 112 B) 1 211 3
()1 21 4 (D) 1,2, 3 ¢4 4
016.  GURAL MuAld {221 21 AsilAd Aopu-l Al WS 58 Al aloy ad) ?
(A) tdl-u e (Badrinath Temple) — GriIvis
(B) si-us Yo Hl2 — i dlan
(©) e 24 422 — 2=ni8 uza
(D) R [@-uas 2wl 2R (Siddhi Vinayak Temple) — HSIRAN

R

017.  [3-€l curiit @wisi 24 AU ARLELAA 4Ry 3l dUsal.

1. A4 a. AHAI Rs-2As

2. sHarll b. sellu-ua

3. Ra x1Ad c. FUAS UALE

4. Ay d. ollw a1l
(A)1-¢,2-b,3-a,4-d B)1-d,2-¢,3-b,4-2
(C)1-b,2-a,3-d,4-¢ D)1-2a,2-d,3-¢c,4-b

018.  S1AHi bllg 4HAL YRdcdly 1agi2ll 9rAdul su1 20l oy 8 ?

(A) cu& (Bagh) B) 2a-ll W<l (Devnimori)
(C) AR (D) sUl4 axq,
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019.  [doru 2ea1 “Vijay Stambha’ su1 240l 20da &9 ?

(A) BUYR (B) Geuyr
(©) iz (D) AR
020. ‘AU €5 Gi3IR’ ‘National Archives’ $4L A% 204 €9 ?
A) dl [2ed) (B) sastll
(C) e8ug (D) H1$
021. sl Guniet Wil 27 Al 2201 52702 Avisil i dlil dusal.
1. U AeuES A a. gl equduH
2. dllde - Ay umawl b, =l sRaed Yl
3. Yna c. 2l AMeisz AMad-1u oAl - yHdd
4. DAAH MZ d. =l y—~Nlena ulu
A)1-d,2-¢,3-b,4-a B)1-¢,2-b,3-2a,4-d
(C)1-b,2-2,3-d,4-¢ M)1-2,2-d,3-¢,4-b

022. DAL s cusal qou B ?
1. Awa- dl dq s€l2 3 Y3 uls N8R — dvis AAR[S HdaL
2. 65 HRuid wid) 24, uLaR A2dl Yy ed — Quis B MILd
3. A% Hr Al selll 201, -dl-i Sumi uigdl Ulgdl, Ulest syoll-l 2o — Avis ae Heugll

(A) 1 21 2 (B) 2 % 3
(C) 1413 D)1, 2 213
023. 9l Auisl i d2iiu GutH-l ALl UL 56 Al uloy ) ?
(A) o600, w1o5d Hdl Rl — 1l (B) HYYET ACUMELA S5 — HYAY
(C) ANueus -2 A — AsATH D) 3R dvdRis® dRa — 3514
024.  NAUUA g3 Al sy n 5294l 20da 6 ?
A) sa4aur (B) susisl2
(C) Adl (D) Y
025.  HeHE A2 AWMU GuR AL 53 UL AR A% SIRMIR 51 AMNAL Sl ?
(A) s8lga uddl B) luga usal
(C) suigq ol (D) elluga ol

026. A ouvtd su1 Al AHAuL odd 8l ?
1. 049529 (M3) il Ml (ML) Bl 211U GIERU drll ABUHI Sell.
2. AL wsuy s Aol Ay el v auurl 53¢ gl
3. drll aHadl (e, e 29 [Rasal el (s add gdl.
(A) U2 AHSORA B) uu2 g oflod - [AsHleen

-

(C) $1IR 9t usdl (D) AU A2ALS
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027. Al R [z 2uudl A2l 214 d-i eun 200 asal W sy sy dloy, 4l ?
(A) Sre-il G A MURAL AR & WA dslien A&lRs eun 8.
(B) g1t [Brgizui Aiagt [Qendls 2uda gdl.
(©) src- erRuani 2Aetlydl surll [Qendls ¢dl.
(D) sia-u syl [Asulien [Qendls 2fzacui sdl.
028. el curauni, {2 UA su1 e - el - 8l ?
(A) sl 20454 da, A2 de (B) u¢dq dal, uisy 4
(C) AldL dal D)mlasiz, wa da
029. Dl cusql AsRAL:
1. AdAR R4 ddell-l asiusid) Al - [ArdiRaug Al Alorir aen 0 UL HIdL oA Sl
2. 34 8160 g1t “vuaADUA” Al HHA A3 53A Sl 2 dll HILL HAHSE L, ALAIRL, R, ARYR Fal

AL t1AL Sl
(A) UAH AU ALY 89, (B) tllog cusy uiou €9,
(©)man 21 oflog, 61l ausul ULy €9, (D) &M 1 ollog, o1l sl Uiy 9.

030. 1857+l AA1H ALiHL AL ALsAL ASIAL :
1. w31 el 2ueie- Hull aRerzgra-dl 2udtandl 1A A Sl edl.
2. ALY (Au3) dum-L Alsi e x4 w9l 2udtal sl BuHul AkA Sal.
3. BT AarAdHl wewl, Wy, [Mealdl, 432l rouat ul MM A3 244 8.
(A)1, 2 24 3 sl Uiy 9, (B) 1 A 2 Alsul Uloy 69,
(C) 2 w1 3 cusul uidy 89, (D) 1 A 3 cusul ALY 89,

-\

031. 22Ul AUASL - JHY 10U Q1Y Id A3l :

1. AUIREL AcuAS a. 1928

2. U3l AU b. 1917

3. vuUSHIRY Hiclan c. 1917-1918

4. ouRsidl acuas d. 1920-1922
(A)1-d,2-2a,3-b,4-c B)1-¢,2-d,3-a,4-b
©)1-b,2-¢,3-d,4-a D)1-a,2-b,3-¢c,4-d

032.  NAUUAA s w81l [Agani st-dlsil nalani wlsu sildsidail g ?
1. 2UHD $™ AU, HeAad Hloal
2. 412 AR, Al sy, Gunfie
3. A% HS % Uy, AR v, M2 Reens
4. Aawru qogeal, Aar tgll?, 3t vyl “veina”
(A) 1,2 %4 3 (B) 1, 3 A 4
(O) 1,2 x4 4 D)1, 2, 3 21 4
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033.

034.

035s.

036.

037.

038.

039.

S\ “\

et e N 5Ll g AR Ssan glAl, d- Avist 2 gla-i usi-l A2 WA 56 A8 ulou
4l ?

(A) RAAUAAETY, — HIA — U2S (B) §HIR AMa — sUALIA — HSLSIY
(C) Yadx — [Awy aul — aidl das M) Rigua ay — eudl — vissiey

s 2 Afis Yareudl Anan A Heiqeual 249 duii-u Al A, WA 5 Al uiu
a4l ?

(A) A AH HISH AU — GRS AHIY

(B) wulldon §A — A A4S AHY

(C) 2l guide uRadl — 20 a3y

M) 572 5R DRuldam — LR i Dad WRuan aiam

[AopurtaR oAl AA0Y 207 sUL A0 Holl 2ud €9 ?

(A) 02y — Bijapur (B) 2UAsi-3L — Golconda
(€©) s ¥l — Hampi (D) asigll — Vadodara
F2lfl AUt 2id dan 2idoa-dl aaiudal su yg 5128 2afla as ?

(A) vielauad 4s — Wandiwash War

(B) 45427 Yg — The battle of Buxar

(C) 4l 202U Y — The battle of Seringapatnam

D) ‘étl%{l'j, Yg — The battle of Plascy

S IDETETEN EETE

1. &Rd 22 “onaudl Alvn” -l Aldl Wil s s e 6.

2. ouAHdl Alvg Youd Geued e[ A v (R L 8.

3. AL gL (APEDA) tuudl Qv W12 AAIS s S+El3aum Geographical Indication (GI) 4Ny 9,
(A) 1 11 2 dLsUl Uiy €9, (B) 1 2 3 cusUl Uiy €9,
(C) 2 ¥ 3 cusul uidy 89, (D) 1, 2 A 3 LSl ALY 89,
A0 WA 5y cawsa a8 ?

1. Aogd 324 bivs (RRB) -l 241 AU SIAEL YL SAUH] 2UAA 69,

2. RRB g1 90% (B0, a8l A-§lani 244 M [QRdiHi 529 5220U1d 6.
3. euHi vidladl fag Heau [ a5 ti-sl WRSA sAUUL 20d B,

(A) 1,2 %4 3 (B) A 3

(C) WA 2 @) WA 1

A2 U su1 ausal qiou € ?

1. -4 $Ula 332l (Anti-dumping Duty) 2 d&acuel 2[5 . ¢l eari Genlal uesll axgil e
alou 831 3 us.

2. slud A ?S"\S%ilm oy vigR s14d DGTR (Director General of Trade Remedies) ENEN]
S’loL 2ol dui 52 8.

(A) A 1 (B) WA 2

(€)1 211 2 61~ cusul U 89, (D) 1 24 2 6 sl Uiy Al
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040.

041.

042.

043.

044.

045.

“ARR div” (Teaser Loan) SIAHI AHIAR WAHL AU HA 6, d 9 & ?
(A)nals doissil ol €2 2491 SId € i ugdl -l g2 Al .
(B) ML AZN6L A 6100 LA, 21691 UL €3 2L 2iad] did,
(C) w1 WL 54, viotor AL €2 i1 Qo duou-il di-L.

(D) ¥4 driclrt l5aaia >uuani suadl di-.

-

6ivs Wil 6321 (Bank Board Buerau, BBB) il 44 $1al sui ¢ ?
1. Glesil SR ugdl, dcd--uHi YRl sal.

2. oimsi-l You ol Mal {2 stdad) s 2 UMl A$1R1 AL sdl.

3. vt (B (Bad Loans) -l 21AR @213l 18R &xli-l 6isid Adl 44l »uudl.

(A) 11 3 (B) 2 %A 3

(©)1 21 2 (D) 1,2 ¥4 3

Awmslsa S-3an 2 (Geographical Indication Tag - GI) A+~ Ad siA 2uyami 2ud ¢ ?
1. vid Gewel (Agricultural Product)

2. vt ugilal (Food Stuffs)

3. &-dls182 (Handicrafts)

4. s C{Qg?:ﬁ (Industrial Products)

5. A+ 4 1dldle YleuAl (Wine and Spirit Drinks)

(A) 1,2, 3 24 4 (B) 1,2, 445

©)1,2,3,4215 (D) 2,3, 4 %4 5

RURAHL €2 A &L quid s1u-u-flud Ui (Financial Report) $i-il 610 61812 WsclHi 2ud ¢ ?
(A) A tirs 2s Sl B) A 2uuia

(C) -ueus (D) -ew Hauau

-l Akl Higl drdl AR W2 59 €l BU stddd -1 © ? (World largest floating solar
project)

(A) 2o (B) il

(C) WY~ (D) 5145

au w2 AR (Open market policy) i 56 W3-l cudt €9 ?

(A) 5412 WA (Credit policy) (B) 3¢z Wil (Debit policy)

(©) fuifle widlRll (Deposit policy) (D) Buisd U4 516 ur 1l
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046.

047.

048.

049.

050.

051.

MURAHE 100 31 0L 244 1 31l -2 Gur sidl udl Slu 6 ?
i, Aguld

IR RCKRICTEE]

HirL 202,00l 20, dd-Rsl

e, HAL Aen (el

i ARasl -usu (el

AU S o e

i, A Ald 2uai0

(A) Hirt 002l 244 1. |8l wen (et

(B) L. H=All Ao Qe 244 Hin. AHA I 2uaia

(©) urt. 2020020, A4 244 1. AR e [[deuat

(D) -t AlRasil usu [Qeust x4 i, 40 lld 2uai0

121 21ed= (Mixed Economy) %24 ?

(A) Vidl 24 GelldUA, AU IR AL UHISHL UlcALs A 21U 69,

(B) 2182 &xA 2 vl &ot A AR

(C) ~Urit, HEUH A Hi2L GalloliA WicilsH

(D) vl &ot 24 widl-i (sl G

ABUAMUAL AUAELAL Y2ullHi Mgl 51052 €9 ?

(A) AHIY HAEIR (B) dlsuci-iL aeusllail
(©) s [Atun e Yra acu sl (D) AiSAML, A% [Atun e acu szl

QU AL GTEIRELAL 2UHHHL “UHIAEL (B AUEURS” AEI-AL A sUL o{RRlA YHIRLA 51281 2l
el 8 “ls AAMIH UM AL, (Bt AUEURS AlsedALHS UAATLS a1 2UHuHL Gedn & ?

(A) YRl -i. 41 B) Y -i. 42
(C) YR +i. 43 (D) YR -i. 44
HANMA 8551 AAIE A $H 1611 1oy Fd 2Wsal.
HOGA S50 §12%9¢
1. awll 2alda Q3R Uil 2145 essld @ a. 21
2. SIUEL AHA AHIAL b. 28
3. @ar i1 AR edU 8 c. 19
4. s Guirn-umi s19rdl »{d1 AdaAdl d. 14
(A)1-b,2-¢,3-d,4-a B)1-2,2-b,3-¢,4-d
©)1-¢,2-d,3-2,4-b M)1-d,2-2,3-b,4-c

oigl-ucugllse, uH 20, uldny, 2E5R Y291, Blan Fdl [R2-l Gedu Alat-- suL vh2u9eul
s Q9 ?

(A) 29 (B) 30
© 3 D) 32
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052.

053.

054.

0SS.

056.

057.

A=A WS su causal aioy 69 ?

1. 232698 374 20 (-l Aacusal 518 s A4 sAdl asdl 12l ug siuel asdl aud
Aopu-lla-u Holeats Rusidia @y wigal Aol 20 8.

2. APAIE 40 Yoyt HUARALD 2L, %33 Anil 244 AR 2uuarll Aars sauml 20dd 9.
3. 511 2000l ) 214 HellailRd WRRAR Rig sa-) Aot 214269¢ 44 i s34 .

(A) 191 3 B) 1 21 2

(C)2 41 3 (D) 1,2 ¢ 3
“SFURTI” dl%s-ll (R5[d dlogeil) sl HoUad 11 A3 sUMi 20dd 6 ?
(A) 4&4, ag 2q w2y Gelldl Hauay (B) 80 H-uau

(C) A8 HaAqu (D) 28U Houdu
LBETETEN A

1. Aoy ueig (e ad asal & udg 173 Al asu Siu dedl amsl v €2 6 ad uel [Agn
al.

2. dlsueidl uddl tigsl aidlul 6 al Yl dlsucu g 284,

(A)man asy aioy . (B) tllog cusy uiou €9,
(C) M i oflog ot sl 4Ly 8. (D) UaH 1A ollog i ausal dLoy .
A usal AStA

1. €35 4{olA dal GuRd-l Al orraq ol 1igd S1S weL A Hl AYsd clesHi 8193l 2uuUHL 855 8.
2. sifadla euol dlin sie A HASLA AUl HAEIHT ML Adlil d2l Hel 2L 855 6.
3. MRl Gu-uld gigil 33 AspAMIU AUl 264,

(A) 1 244 2 12 89, (B) 2 i 3 A2y 89,
(€)1 211 3 oy 89, (D) 1, 2 24+ 3 18100 41y 89,
S IDETETEN BRI

1. Gurguld-l Y2ellui s A el st el HASIRIARIAL AGUL, HAEL 52 €9 i 26l UASL Ot Hg Ll
uiedfl a8,

2. % Al5d A% AU A A A21al Qs L Sid aal 35 Qi GHR Y 53 1 €l d alsa
Guarguld aglvi 22ian uia -,

BURLsd AANS sULALAIEHT SAAQ 9 ?

(A) 64 (B) 65
(©) 66 (D) 67
A=A sul ASIAL

1. guld, agianr A6 Wi Al Wit sigrg A2-uy, 2udl asal.
2. A9 65 Hi ALY sul Yoot AUl HsL 2URIU (Impeachment) &1L §2 53 A B,

NN Yy

3. nzula AAe-u 515 uLL a8 viaan AUl (A Han el AU A Sldl AS A AU 1A dl &L
AL d dlvadl d lss vudl 531 auu €.

(A) Wt 3 cusu a8, (B) 1 24l 2 cusl uioy €9,
(C) 2 w3 cusul A2y 89, (D) 1 24 3 cusul ALY 89,
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0S8.

059.

060.

061.

062.

-

A suotdl HIE Ul2Y 2442IE ANlsal :

BRI 2142698
1. AU ABAUAL a. 158
2. AAwaHl [Augs b. 156

3. Azaua Slgl Yed e 153

4. Apuwa- elel aRdl - d. 155
(A)1-¢,2-b,3-2,4-d B)1-d,2-¢,3-b,4-2
(C)1-b,2-2,3-d,4-¢ M)1-2,2-d,3-¢,4-b
A AA 5y ausu uloy dl ?

(A) HIRAHE A5 GRAAH AALEA B A3 MURdAL HIrl, You A BURid 24y UL =aydil
POUEREREN

B+ a3yl 70 ) GHR Y vl Sigl sadl a3 8.

(C) ML ~ay[d vldig A2 Hi. r2ulan A1E2 52 B,

(D) s14 2B UL You ~uay[d- o 2§269€ 126 Hi s 204 B,

A ausal a5l

1. Yuud {3l oo 2l 7141 YAIRL Yoo 2ud) vna 6.

2. Yad [0 JHIRASAL dl. 24-4-939 AN 2udd .

3. weuadl 2R+ vtaa e a4l ARUBH] AR 11 Aa-l [AHgs saHi 20d 8.
4. dA- M AoA0HE Yed wi aul glu 6.

(A) 1 2 4 cusul w1y A, (B) 1 1 2 cusul widy i,
(€)1 21 3 cusul widy A, (D) 1, 2, 3 i1 4 cusUl A2 4l
LBETETEN A

1. 37dlU Ad Sl 20ALA 25-212122 1988+ A% “AuUAS £%%” 2UUAHL 2UAA S,

2. UM A8 BURid =18l AU SIY 69,

3. GRIAR lELl gBuulL Bl ousidll duid s34 dloU d WAL HRAL BUULRL HALHEL 53 69,
GuRisa USL sun [Qan-il w0y ¢ ?

(A) 1 21 2 (B) 2 ¥ 3
(©)1 213 (D) 1,2 ¥4 3
A sl asil.

1. dlsWA 2 AlsIYsd SUEL - 2013, A Hirl 002uldat 1 oy2u3l 20141 % Hog Il >uudl 8dl 244
16 2A~y2UR) 20148 21 SIUEL HHAHT 0dd Sl

2. dlswaHi a8l GuRid HeaH 28 ucdi-l Almes s30 as o,
(A)ynam i ollog asa oy 8. (B) UL UAH ALsA ALY 69,
(C) ML=t oilog sy U2 €9, (D) &M 1 ollog aisu, ot dioy .
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063.

064.

065.

066.

067.

068.

dls Ac naiol AduS il 2 oi[8d 2042692 A2 WA 56 A wlow 2l ?
(A) A8 25 ALs AL PUALL 2 €35 AU V15 ALS AL AL 8A — AY249€-315
B) neui-ll [Auggsl Ao — »1q29¢-317

(C) dls Al 2UALRLAL S1Ul — 2j2%9€-320

(D) dls AL 2uAlol [RUild — 2269¢-323

LDETEIENEETEN R

1. daadil axm el 0yel siiadlHl gaoigidl Ao 2ol sfaqui [AlRa w69, 2u w2l
A2US HAIE 243 T (243 K) Ui scuul 20ddl 69,

2. AlSUML APAAML 24 [Qaueuddl 226l 2000 guneid x14269¢ 324 Sstn - SAsuq sRanwi
[Al8a wu 8.

(A) UAH USA ALY 9, (B) tllog sy uiou €9,
(©)man 21 oflog o1 cusul Loy 8. (D) U&H 1 ollog i ausal dloy, .
vl oot Y.
216 3|2
80 | 24 120 | 36
(A) 7 (B) 8
©9 (D) 10
vl oot Y.
84 81 88
14 | 12 18| 9 ?2 | 11
A) 16 (B) 21
(©) 24 (D) 28

L,M,N,O,P,Q,R, S, T A A5 1 2l 9 {612 2uU& 8. Ug, 1l <1420 sHIGAR ell. PHIE 4 612
UUA 9, P T A 5 14 dS1Ad 9 2 T 4l N a2 3 L dsidd 9. 24 HUHE N 1 $Ul 612
U 8 ?

(A)7 @) 6
©5s (D) 4

25 §2301m1L 12 cunsi-l A GHR 11 au . o e1gt-l ARl s 20d dl w3219 G 15 a2 6,
glel-l GuR sedl sal ?

(A) 52 @) 63 i

(C) 68 < (D) 72 aM
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069.

070.

071.

072.

073.

074.

075.

076.

L5 HvULL 1/4 HIRLAL 2/5 GUOL 72 U 6. dl A AvauL 8 89 ?
(A) 360 (B) 540
(©) 720 (D) 900

25 204lH 101 12 seusHi 2i8l M s 8. uid A ollod A viiaumi 2ud dl 18 seausHi 2isl vudl a8
8. ol 61, 0L MlAUHL 24 dl 218l 52l AvidHi MR ?

(A) 18 5415 (B) 36 sa15

(C) 54 5415 (D) 72 5415

25 Auidl Y [3Hd BUR 20% 151 BAA 20% AdR 20U €9, 24 AANHE A S2al 251 5151 49 ?
(A) 4% (B) 5%

(C) 8% (D) 518 151 5 s Al Al

-\

70 W12 aiell 2udl, 90 Hl2: aici WWasiHA 4 AS3HE uAR 52 8. dl -l »3u sedl ¢l ?

(A) 60 [3Y/sc1s B) 72 [3y/scus
(C) 90 (3358 (D) 144 [3:0)/5cus
vl oot Y.

29 [ 13| 18

33 2|19

33 (27| 3
(A) 19 (B) 15
(C) 14 D) 8
25 Hi2 asal Wil Bl 35 AL 8. dl 11 (53 2idR stuan Ug seen uieL iRl ?
(A) 2,500 il (B) 3,000 il
(C) 4,000 i2L D) 5,000 il

uiy i Hl2z stusniddl 50 A4l Sedn AU sustiL Audl- ol s ?

(A) 10 QUi+ (B) 100 -usl-

(C) 1000 Uil (D) 10,000 Uil

3. 720 Hi s viRell dacusfl 20% iz AU 6 AN 20% 151 Aaadl Sid dl d vRell szcuni dadl Asx ?
(A) 720 3L. (B) 900 3L.

(©) 1080 31. (D) 1200 3.
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077.

078.

079.

080.

081.

082.

083.

084.

08S5.

vl oot Y.

3 |[370] 7

2 |224] 6

1 |730( ?
(A) 5 (B) 7
©9 D) 11

D2l WAL S oA dl2il ealag aus -l ?

(A) L. 20l AluA — [P a Wiy se AA1dst s uaH wldal

(B) <L oldl agr — waoR sy x4 RH2 Al GuagHl simolld)
(€) g sRua — 32 gu ¢is S

D) s1cu gl — uan WS sidq A=l

ol dui Al arid 1w A4l sl 9 ?

(A) 16 S1SASS - Carbon dioxide (B) laA - Methane
© élll§:l35‘1 - Hydrogen D) élll§:l35‘1 A0S - Hydrogen Sulphide
ALS (Chalk) 211 U™ (Marble) 3 9L USIR €9 ?

(A) seallum élll§:l°6'1 1612 - Calcium hydrogen carbonate

B) 5cluH s1eli-2 - Caleium carbonate

© scllam 122 - Calcium acetate

D) Aflun s1etiA2 - Sodium carbonate

5IAI% (Oncology) 2 5L BUGLArL AGAA 53 69 ?

(A) ugll>i (Birds) (B) 34 (Cancer)

(C) ¥l (Soil) (D) A2t el (Mammals)

fl Sr22AA ALAUR AeuA (The International Solar Alliance - ISA) @ AR s 0 2udd ¢ ?
(A) U (Paris) B) dl Redl (New Delhi)

(©) 2L3AH (Gurugram) D)~y K (New Yark)

U251 AL (Arka Soma) 2 2251 (AU (Arka Trashna) 21 -l Al ondi ¢ ?

(A) s18 (Grapes) (B) 2142l (Tomato)

(C) 413 (Guava) (D) 4d2U (Orange)

A Y2 2S 254 ud s Ars Yo wi-{loL (National Bureau of Soil Survey and Land Use
Planning) g Hvd HAS 56 @ou 0dd 9 ?

(A) 8gu0ue (Hyderabad) (B) [l (Delhi)
(C) Y&l (Pune) (D) w2ryR (Nagpur)
iR YoisHi Yois-l HRAHE Yot (Magnetism) $2¢ Sl € ?

(A) HSTH (B) 4ytu

©) 3~ (D) S8 uMIA S 89,
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086.

087.

088.

089.

090.

091.

092.

093.

331R (RADAR) 2u-l Guaiomi dan 89 ?

(A) g3l ig WA AGHIA Al

(B) 381l aZon-ll &l Wy

(C) Wl 8 A dedllrl 20011 WIS

D) @, 2as2ll 18-, ual2al adi’dA a0 ikl 12

ol el 2l HLA A WS (RIMNP) suL aod/5-wRd e aui 2uda ¢ ?

(A) YAl (B) iR

(©) ¥igrurt [RsionR dluuys (D) 530

RURAML A A1~ 3 (National Science Day) €2 a¥ $8 didlw Gorauy ¢ ?
(A)28 420 (B) 27 54208l

(C) 26 3203 (D) 25 54208l

AlsAML A 2 Apuucu dldg v pisls 56 A-a/zia e 2da 9 ?
(A) 28l (NDTV) (B) M Adl (Zee TV)

(©) xue ddl (Sansad TV) (D) 2U% d$

@R ALl 202, [Ana $HIR (R. Vinay Kumar) g1 [Radl 8 saimi 2udd 6. dil 58 4d il
AsnAA san ?

(A) siis{la - Boxing) (B) 4%+ Guisaldl 2ud - (Weight lifting)

(©) (352 - (Cricket) (D) 814l - (Hockey)

G-20 tuoid AL ALsAl A5l :

1. 20 uHl2 Ul 80% gRait GDP-L (824 4R1d €9, 75% AWR 241 60% Al [S2R411 4R1d €9,
2. A 1999 ¢ €2 Ay G-20 -l 6iss wal 9.

3. 30 2irl 31 2AT521042 2021 +lL A% AH Vlld ¢4 6165 HOAIR 6,

(A) naH 1 ollog aus Uiy 8. (B) tllog 27 Alog cusy ulou 9,
(C) naH 11 Alog sy 0o 99, D) nan, oilog 244 Alog aus ulou 99,
UL HELAL 24 d el a0 419y {ld dlisal.

1. 3 Higl R4un a. slastl - Kolkatta

2. SAWAA (EMS) R 8un b. &anR

3. sdlou R8un c. 5190 518l - Kozhikode

4. dldsiie yal MRdl SlRidt d. wMele
(A)1-¢,2-b,3-a,4-d B)1-d,2-¢,3-b,4-a
(C)1-b,2-2a,3-d,4-¢ D)1-a,2-d,3-¢c,4-b

9 edrll RHAIRL A AU A5 UL 5y g Ulou el ?
(A) Sdd W - AAY

(B) uldl duasas - gigdlz

(C) arn ARawl - [Raun suoy 4l (Marks woman)

(D) »iflc 3-u - [532 (Cricket)
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094.  WHA-{l 2i] (Trophy) Al ML A3 5124 USL 5L A3 51 AU & ?
1. [852 - .4\ oll2eu 2i8) (G.D. Birla Trophy)
2. oigillre - oL su (Narang Cup)
3. 814l - wkHl-uR 218] (Charminar Trophy)
4. @’{Tét - $33U1 54 (Federation Cup)

A1, 2 21 4 (B) 2, 3 ¥ 4
(O) 1,3 x4 4 (D) 1,2, 3 ¥4 4
095. 9 AU A 2021-20221 A A2 [AUAAMHL SAR 29 SAUH 20dE 8 ?
(A) 28 5420l - 2021 (B) 1w - 2021
(C) 2 W - 2021 D) 3 WA - 2021
096. M v dui GuALHI Adidl Aoeirl Azl Loy dd duisal.
1. s20lld - Football a. 6l -3 - Back hand
2. ¢flo - Bridge b. l=flot - Pinching
3. 6y il - Base ball ¢. 93 34U - Grand slam

4. 63 Ylve-t - Bad minton  d. 4% - Kick

(A)1-d,2-¢,3-b,4-a B)1-¢,2-b,3-2,4-d
(C)1-b,2-2a,3-d,4-¢ M)1-2,2-d,3-¢,4-b

097. A S~ida- xAsud% (City Innovation Exchange) (CIX) W@asiH sul HoUAU gIRL A3 $AHI
A 69 ?

(A) A8 HU4Y - Home Affairs
(B) 1620131 4 w16i 2153 {14 - Housing and Urban Affairs
© %SC:ter\l['\‘lSQ{ A 208,81, {14y - Electronics & L.T.
(D) [Q1ma H-uay - Education
098.  d Al5d Honau gIRL, §2 4 v~ %9 2uasiHls WAl (Swachh Iconic Places) (SIP) W2 A+

U4l si-l uieoll ade Al ?
(A) APl Y51 - HSRIG B) awa (3ean - [Bedl
(C) §MAE 512 - A%AA (D) tus e8Il HER - vy

099.  5idls Al - COVAX Scheme 2l HaH dsfld AR sul e € ?
(A) Y B) @
(C) Saidla (D) S\
100.  SraHi 2u0H A5RA A4 UA 59 a2 304 Hedlun sTaR (§) Hl dirt war A2 w2 2uda o ?
(A) ADB - Asian Development Bank
(B) 4&S 6i~5 - World Bank
© 2, 208.2u8.00l. (AIIB) - The Asian Infrastructure Investment Bank
D) =y 3aquire oivs - New Development Bank

ASN-MASTER] 15 [ P.T.O.


CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


101.

102.

103.

104.

10S.

106.

107.

108.

109.

110.

111.

Water spraying at coalface before & after shot firing is mandatory, why so?
(A) In order to guard against the explosion hazard of coal dust

(B) To remove the coal dust from workings

(C) For making blasting efficient

(D) To cool the face

Roof fall accidents in underground mines are mainly caused due to
(A) Fast face advance

(B) Insufficient support and delay in erection of support

(C) Max concentration of workers is there at the face

(D) Misfired shots

Why fleet angle is limited to 1.5°?

(A) To increase the side travel on the pulley

(B) To prevent excessive wear & tear of the winding rope

(C) It allows maximum persons to travel at a time

(D) It allows use of rope having lesser diameter

Flame trap or flame arrester is used with

(A) Conveyor (B) Direct haulage
(©) Diesel locomotive (D) Shaker conveyor

An attachment used with the last tub of the set of ascending tubs, is known as

(A) Automatic switch (B) Drag

(C) Buffer (D) Stop block

What type of rock is a Sandstone as a coal bearing rock as per its origin?

(A) Igneous (B) Metamorphic

(C) Sedimentary (D) River rock

Tension crack in surface mine is referred to

(A) Instability of the bench (B) Toppled bench

(C) Rock joint (D) Crack detection

Place in a mine or person liable to or susceptible to more accidents than other is known as
(A) Dangerous area (B) Accident proneness

(C) Person negligence (D) Meager possibility

Provision of safety management plan is made in the CMR 2017 at regulation

(A) No. 105 (B) No. 110

(C) No. 104 (D) No. 100

Which of the following is a modern method of training

(A) Training using at trainer (B) Demonstration of new machine
(C) Simulator training (D) Working as assistance to operator

Consequences of high risk in a mine may lead to
(A) More lives lost or injuries (B) Abandoning the mine section

(C) Workers loose interest in job (D) More reserves lost
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112.

113.

114.

115.

116.

117.

118.

119.

120.

121.

Sub grade drilling in opencast mine is done for

(A) More fragmentation of blast (B) Avoiding toe on the bench
(C) For supporting bench (D) For controlled blasting
Contours are defined as

(A) The lines joining the point of same elevations

(B) Showing the depth of mine

(C) Lines joining the points of equal thickness

(D) Line showing the road profile

The delay between the ignition and the application of the heat source termed as

(A) Lag on ignition (B) Incubation period

(C) Saturation period (D) Thermal conductivity

Proneness to spontaneous heating is highest in the following crossing point temperature range-
(A) 120° to 130° (B) 130° to 140°

(C) 140° to 155° (D) > 155°

Which of the following term is not used to describe fault in connection with rock?
(A) Gradient (B) Hade

(C) Up throw (D) Down throw

Factor of safety in slope stability analysis is a ratio of

(A) Mobilizing force to Resistive force (B) Resisting force to Mobilising force
(C) Mobilising strain to Resistive stress (D) Resisting strain to Mobilising stress

A surface coal mine is worked by 10 m* shovel — 85 tonne dumper combination. If the shovel
bucket fill factor is 0.8, the material swell factor is 0.75 and the average in-situ sp.gr. of the
material is 3.5 tonne/m3, the number of shovel bucket loads required to fill a dumper will be
nearly

A3 (B) 4
s D) 6

Which of the following statement is wrong. The incombustible dust used for treatment of coal
dust shall

(A) Not contain more than 5% of free silica content

(B) Be readily dispersible in air

(C) Not cake

(D) Be hygroscopic

While conducting job safety analysis (JSA) it is not necessary to

(A) Identify the hazards (B) Identify the steps in the activity
(©) To calculate risk score (D) Consider existing controls

Annual surplus of Rs 25 lakhs from profit is deposited in a separate sinking fund account for
replacement of LHD Machine for 8 years with an interest rate of 7.0%. Calculate total fund
available at the end of the period

(A) 43 lakhs (B) 50 lakhs
(C) 37.5 lakhs (D) 41.5 lakhs
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122. The amount of full dip of a seam is 1 in 6 in a direction S 45°W. What is the amount of apparent
dip in a direction of N 75° W?

(A) 1in 10 (B)1in 12
(©)1in8 (D) 1in 14

123. Following is the data of diamond drilling to evaluate rock phosphate property. The position of
the boreholes A, B, C, core lengths and grades in % are mentioned in the figure along with area.
What is the average grade of deposit?

Borehole B,
3.8m. 18%

Borehole C,
24m, 16%
Borehole A,
3.2m, 15%
(A) 16.47 (B) 16.33
(C) 16.90 (D) 17.00

124. What does the following contour indicate?

(A) Valley (B) Flat ground

(C) Hillock (D) Up and Down terrain
125. A drilling machine which is having more than one drill, is called

(A) Drifter (B) Drill Jumbo

(C) Jack hammer with airleg (D) DTH
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126.

127.

128.

129.

130.

131.

132.

133.

134.

135S.

The breaking strength of a stranded wire rope is proportional to
(A) The diameter of the rope

(B) Inverse of the square of the diameter of the rope

(C) Square root of the diameter of the rope

(D) Square of the diameter of the rope

A 1.1 m wide belt conveyor carries materials of bulk density 1.35 tonne/m? at a speed of 1.75 m/
sec. The average cross sectional area of material is equal to w?/11. Where w is width of the belt
in m. The carrying capacity of conveyor in tonne/h is

(A) 688 (B) 728
(C) 846 D) 935

A centrifugal pump has a discharge rate of 2000 L of water per min against a total head of 200
m. If the pump efficiency is 75%, the input power to the pump in KW is given by

(A)87.30 (B) 49.05
(C)13.33 (D) 7.50

Which of the following method is partial extraction method?
(A) Yield Pillar (B) Longwall
(C) Chess Bord (D) BG method

Which of the following statement is incorrect?

(A) Panel size depends on incubation period

(B) SECL is a subsidiary of Coal India Limited

(©) Factor of safety of coal pillars depends on carbon content of coal
(D) Wide stall is partial extraction method of working

Elemental analysis of solid can be done by

(A) X-Ray Fluorescence (B) Gas Chromatograph

(C) UV Visible Spectrophotometer (D) pH Meter

Rate of increase of temperature with depth below the earth surface is called as
(A) Geothermal gradient (B) Isothermal line

(C) Endothermal gradient (D) Exothermal line

As per CMR 2017, splitting of a maximum of pillars is permitted when pillar extraction
is to begin

(A) Two (B) Four

(C) One (D) Three

Safety detaching hook is used in

(A) Drum winding (B) Koepe winding

(C) Endless haulage (D) Direct haulage

In a whole circle bearing system N 25° 15' W corresponds to

(A) 115° 15’ (B) 154° 45’

(C) 205°15' (D) 334° 45'
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136.

137.

138.

139.

140.

141.

142.

143.

144.

145.

An underground coal mine produces 520 tonne per day deploying 220, 200 and 192 persons in
three shifts. As per CMR 2017, the quantity of air in m*/min to be delivered at the last ventilation
connection of the panel is

(A) 1180 (B) 1300
(C) 1280 D) 1320

In manual opencast workings, if thickness of top alluvial soil is 6 meters, the minimum number
of benches in soil must be

(A) 6 (B) 2
©) 4 (D)3

Which of the following is not a notified mineral as specified in Fourth Schedule of MMDR
Amendment Act 2015?

(A) Bauxite (B) Iron Ore

(C) Magnesium (D) Limestone

What is the maximum allowable wet bulbs temperature in underground coal mine?
(A)33.5°C (B) 32°C

(©)30°C D) 31°C

In an underground coal mine, where a zone is treated with incombustible dust, the samples
shall be collected by a method of

(A) Strip sampling (B) Grab Sampling
(C) Spot Sampling (D) None of the above

A double ended ranging drum shearer is employed in a longwall mine of face length 150 meter.
The mining height is 3.5 meter and depth of the web cut is 0.6 meter. The cycle time for
unidirectional cutting is 40 min. Considering density of coal to be 1.4 T/m3, coal production per
cycle from the face in Tonne is?

(A) 384 (B) 400

(C) 441 (D) 661

Mine investment is risky because

(A) Returns are not guaranteed (B) More profit

(O) Rich grade (D) Good economics

Use of oxyacetylene flame wielding/ cutting can be done in Degree-I1I gassy mine, if

(A) Permitted in writing by agent (B) Permitted in writing by Manager

(C) Permitted in writing by Owner (D) Permitted in writing by Regional Inspector

Cost of accidents includes

(A) Direct and indirect cost to the employee and employer

(B) Additional Tax

(C) Depreciation

(D) Charges of additional royalty

Crown pillar is at

(A) Close to the barrier (B) At the top of the stope
(C) On the side of the stope (D) At the base
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146.

147.

148.

149.

150.

151.

152.

153.

154.

15S.

Saleable coal reserve is

(A) Less than geological reserve but more than workable reserve
(B) Less than workable reserve but more than geological reserve
(C) More than geological reserve

(D) Less than workable reserve

Capital is necessary for investment in mining for

(A) Plant and machinery (B) Strata control
(C) Safety Culture (D) Coal Stock

When loan is raised for the mining company in equal parts from the public then each loan part
is called as

(A) Share (B) Debt

(©) Debenture (D) Bond

For a company, shareholders are considered as

(A) Debtors (B) Owners

(C) Depositors (D) Lenders

The equipment that is NOT used in hard rock metal mining drivage is
(A) Road header (B) Drill jumbo

(C) Jack hammer (D) Plough

Given the following

Mining method Technique
P. Thick seam extraction Double unit face
Q. Depillaring Jet cutting

R. Longwall face development Inclined slicing

Lol A S

S. Hydraulic mining Half moon method

The correct match is

A)P-3,Q0-4,R-2,S-1 B)P-1,Q-4,R-2,S-3
<©P-3,Q-2,R-1,S-4 DP-3,Q0-4,R-1,S-2
Following method should not be used in sulphide ores

(A) Shrinkage stoping (B) Sub level caving

(C) Cut and fill stoping (D) Sub level stoping

The angle between the end of an underground working and the point on the ground surface
where subsidence is zero is called as

(A) Angle of repose (B) Angle of draw
(C) Angle of fracture (D) Angle of break
The device used to catch broken rods in the borehole?

(A) Crow’s foot or spiral worm (B) Sludger

(C) Screw feed (D) Bulldog

Black damp is mixture of?

(A) COtN, (B) CO,+H,

(C) CO,10, (D) Only CO,
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156.

157.

158.

159.

160.

161.

162.

163.

164.

16S.

166.

167.

Roof fall accidents can be minimized by

(A) Formulation of SSR and proper implementation of the support rule

(B) Minimizing the entry of manpower in the mine

(C) By proper supply of support items

(D) None of the above

It is very difficult to control shaley roof - why?

(A) It is weak in nature

(B) It has carbon content

(©) It has great affinity to absorb moisture and get departed from immediate roof
(D) It reacts with coaly surface

Reciprocating movement is associated with

(A) Shaker conveyor (B) Belt conveyor

(C) Diesel locomotive (D) Cable belt conveyor
Stripper shovel is used in opencast mine for

(A) Stripping the mineral (B) Stripping of mud

(©) Stripping overburden (D) Stripping of grass

The blasting technique used for controlled throw of overburden is known as
(A) Cast blasting (B) Angle blasting

(C) Plaster shooting (D) Pop shooting

CO, is treated as best extinguisher for

(A) Fire in solid combustible (B) Fire in flammable liquid
(©) Fire in live electrical equipment (D) Fire in metals

The most suitable method of raising for 3 m diameter raise is

(A) Alimak climber (B) Jora hoist raise
(©) Raise boring (D) Compartment method
Cementation technique of shaft sinking is employed in

(A) Fissured and stable ground (B) Weak and watery
(C) Strong ground (D) Massive rock
Bomb calorimeter is used for

(A) Heating Value (B) Nitrogen

(C) Chemical ingredient (D) Sulphur

In jointed rocks, RQD =115-3.3 J, J is: -

(A) Joint dip (B) Joint direction
(©) Joint volume (D) Joint numbers

The term ‘NEW?’ refers to zero subsidence is:

(A) New Extraction Width (B) Non Extractable Width
(©) Non-Effective Width (D) None of the above

For measurement of relative humidity, the instrument used is: -

(A) Anemometer (B) Phasemeter

(C) Phallometer (D) Psychrometer
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168.

169.

170.

171.

172.

173.

174.

175.

176.

177.

178.

179.

Poisson’s ratio of the rock is a relation between: -
(A) Lateral stress and strain (B) Lateral stress and Longitudinal strain
(©) Longitudinal strain and lateral strain (D) Longitudinal stress and lateral stress

Sluicing is generally employed: -

(A) In underground coal mine (B) In augering
(©) In placer mining (D) In exploitation of copper
Amount of explosive to be charged in a single shot hole does not depend on
(A) Nature of rock to be broken (B) Hole depth
(C) Diameter of hole (D) Type of drilling machine

Decoupled charging in blast holes results in
(A) Poor fragmentation but less vibration  (B) Better fragmentation and less vibration

(C) Better fragmentation but more vibration (D) Better fragmentation and higher noise

Factor of safety of slope of an opencast mine with increase in pore water pressure
(A) Goes up (B) Reduces

(C) Remains unchanged (D) Fluctuates

Schmidt Hammer Rebound Test is carried out in rock for determining

(A) Shear strength (B) Tensile strength

(C) Modulus of elasticity (D) Compressive strength

The location of primary openings like shafts / inclines can be best selected in multi-seam
development by considering the

(A) Transport effort (B) Centre of the mine field
(O) Rise side of the property (D) Dip side of the property
Charging of lead acid battery of “Battery Loco” gives off

(A) H, (B) CH,4

(C) H,S (D) NO,

Safety leadership is a function of competent person in a mine which includes
(A) Giving safety instructions at the beginning of shift

(B) Assuming the workers are aware of safety

(C) Machine operators are trained and know their job

(D) Asking subordinate look for the safety work

Departure from an accepted normal or correct procedure or practice is called as
(A) Mistake of understanding (B) Non-obedience

(C) Using own wisdom (D) Unsafe act

For working of a contiguous seam, at any time during working, the parting between two seam
should not be less than

(A) 9 Meter (B) 7 Meter
(C) 5 Meter (D) 3 Meter

How many trained rescue persons should be there in a rescue station to maintain a rescue
brigade

(A) 6 ®) 18
(C) 20 (D) 24
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180.

181.

182.

183.

184.

185.

186.

187.

188.

189.

190.

Drawbar pull of a locomotive is

(A) Always less than its tractive effort (B) Always more than its tractive effort

(C) Always equal to its tractive effort (D) Does not depends upon its tractive effort
Longitudes are measured from 0° to

(A) 180° eastward (B) 180° westward

(€) 180° east or westward (D) 360° eastward

The fundamental principle of surveying is to work from the

(A) Whole to the part (B) Part to the whole

(C) Lower level to higher level (D) Higher level to lower level

An imaginary line tangential to the longitudinal curve of the level at the center of the bubble
tube is called

(A) Horizontal axis (B) Vertical axis

(©) Axis of the level tube (D) Line of collimation

The height of leveling instrument is equal to

(A) Reduced level of bench mark + back sight

(B) Reduced level of bench mark + fore sight

(C) Reduced level of bench mark + intermediate sight

(D) Back sight + fore sight

When the air and mineral flow in the same direction, the ventilation is known as:

(A) Ascesional (B) Homotropal

(C) Antitropal (D) Descesional

Roof convergence is monitored by which instrument

(A) Tell Tale (B) Load Cell

(C) Stress Cell (D) Flat Jack

Piezometer is used for

(A) Water Pressure (B) Strain monitoring

(C) Stress monitoring (D) Convergence monitoring
The survey in which curvature of the earth is taken in account, is known as:
(A) Plane survey (B) Topographical survey

(©) Geodetic survey (D) Hydrographical survey
Percentage of extraction during development in Bord and Pillars does not depend on
(A) Width of the Gallery (B) Size of Pillar

(C) Height of Gallery (D) Incubation Period

Identify the following instrument

(A) Tacheometer (B) Gyro-theodolite
(©) Total Station (D) Auto Level
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191.

192.

193.

194.

195.

196.

197.

198.

199.

200.

201.

In case of weak hanging wall, the following method cannot be employed:

(A) Sublevel Caving (B) Top slicing

(©) Sublevel Stoping (D) Square set Mining
In case of narrow orebody, the following method cannot be employed
(A) Longwall (B) Room and Pillar
(C) Breast Stoping (D) Block Caving

Calculate the % extraction during development if centre to centre distance between the pillars
is 28 m and with of gallery is 4 m. The height of gallery may be taken as 3 m.

(A) 24.62 (8)26.53
(C) 27.01 (D) 27.53

As per coal mine regulation, if a 2 cm diameter rope is used for winding, the tapered portion of
the white metal socket shall not be less than.

(A) 4 cm (B) 8 cm

(C) 10 cm D) 13 cm

Pillar dilation is measured by using

(A) Stress Cell

(B) Magnetic Ring Multipoint Borehole Extensometer

(C) Remote Convergence Indicator

(D) Telescopic Convergence Indicator

New miner training for safety is a part of induction training which consists of
(A) Giving idea about work environment & site-specific hazards

(B) Machine fleet statistics & trouble shooting

(C) Wages and bonus

(D) Deployment as helper

More number of “near misses” during the work may trap the worker in

(A) Abandoned section of a mine (B) An accident

(C) Promotion in the job (D) The cage of a winding shaft
Safety Management is a process of assuming acceptable levels of

(A) Safety performance at the work places (B) Miner capacity for the work

(C) Machine management in mine (D) Personal Management

Concentration of CO at any place of working shall not be more than ppm

(A) 100 (B) 1000

©) 50 (D) 200

Percentage of inflammable gas should not exceed % in general body of return air of
any ventilation district and % in any place in the mine

(A)1.25& 0.5 (B) 0.5 & 1.25

(©)0.75 & 1.25 D) 0.5 & 0.75

Following the path of least resistance for the work, sometimes also thrill seeking and saying
that — “I know a better way of doing this” or corner-cutting is comes under

(A) Optimizing violations (B) Pointing errors of operations
(C) Bad habits (D) Safety matters
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202.

203.

204.

205.

206.

207.

208.

209.

210.

Permissible Peak Particle Velocity (PPV) of vibrations due to blasting at the foundation level of
structures in mining areas depend on ownership of building, type of structure and

(A) Dominant Excitation Frequency (B) Velocity of Detonation
(C) Air overpressure (D) Noise of blasting

Which of the following precautions is not appropriate against danger of inundation from potential
water bodies: -

(A) Drivage is limited to only essential headings

(B) Drivage should be so arranged that an adequate barrier against potential water body is
always left

(C) Extraction should ordinarily by caving method
(D) Minimize damage to roof during blasting

Gassy seam of the second degree means a coal seam or part thereof lying within the precincts of
a mine where

(A) Rate of emission of inflammable gas per tonne of coal is between 1 m® and 10m?
(B) Rate of emission of methane gas per tonne of coal is between 0.5 m* and 15m?
(C) % of inflammable gas in the general body of air is less than 0.1.

(D) Rate of emission of methane gas per tonne of coal is more than 10m?

What is the National Ambient Air Quality Standards for annual average of PM, 5 particulate
matters in pg/m3?

(A) 40 (B) 20
(©) 60 (D) 100

The amount of total stone dust required in kg for a secondary/heavy type stone dust barrier in
a roadway of size 4.0 m x 3.0 m is

(A) 5200 (B) 6600
(€) 4680 (D) 1320

A developed panel for a coal seam having incubation period of 6 months has 32 square pillars
under extraction having size 25 m, and height 3.0 m. Density of coal is 1.4 tonne/m>. Percentage
of extraction during depillaring is expected to be 75%. To depillar the panel within the incubation
period, assuming 25 working days in a month, the production from the panel in tonne/day is

(A) 420 (B) 480
(©) 560 (D) 680

As per DGMS guidelines, the minimum level of illumination in the operator’s cabin of machines
in surface mine is

(A) 3 lux (B) 10 lux
(©) 30 lux D) 5 lux

A gas having a pressure of 100 Pa and a volume of 10 m? is to be compressed to a volume of 1 m’.
Calculate the pressure of resulting gas as per Boyle’s Law.

(A) 900 Pa (8)) 1000 Pa
(C) 980 Pa (D) 10000 Pa

In a mine roadway of 2.4 m X 2.4 m cross section, calculate the thickness of a flat dam to resist
200 m water head, if the safe crushing strength of material is 2.0 MPa.

(A) 70 cm (B) 59 cm
(C) 48 cm (D) 90 cm
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211.

212.

213.

214.

215.

216.

217.

218.

219.

220.

221.

222.

Which of the following condition is the most ideal for chemical weathering of rock

(A) Cold and dry (B) Cold and humid

(C) Hot and dry (D) Hot and Humid

When the rock is removed layer by layer due to weathering, it is known as: -
(A) Exfoliation (B) Block disintegration

(C) Deletion (D) Granular disintegration
Which group contains all types of rocks with respect to their origin: -

(A) Quartzite, Slate, Schist (B) Shale, Quartzite, Basalt
(C) Basalt, Granite, Pumice (D) Sandstone, Coal, Limestone
In Rock tunnelling Quality index (Q-index) SRF stands for: -

(A) Strength Reduction Factor (B) Stress Reduction Factor
(C) Strain Reduction Factor (D) None of the above

As per Indian electricity rules, 1956, in a mine the voltage in a hand-held portable apparatus
shall not exceed

(A) 220 volts (B) 150 volts

(©) 125 volts (D) 30 volts

Ramps are made in underground metal mine for

(A) Steep gradient (B) Mild gradient to ply vehicles
(C) Locomotive (D) Drainage

Winzing is usually practiced in underground metal mine for

(A) Dry conditions (B) Watery condition

(C) Top level connection (D) Smaller cross section

If the latitude and departure of a line AB are 80 m and 60 m respectively, calculate the length of
line AB

(A) 100 m (B) 140 m
(©) 20 m (D) 120 m

If the total co-ordinates of points are P (100, 200) and Q (150, 250) then what is the length of line
PQ

(A) 10V40 (B) 10V50

(C) 10760 (D) 10V55

If the bearing of line XY is 60° and included angle XYZ is 70° then calculate the bearing of YZ
(A) 130° B) 310°

(O) 110° (D) 10°

If the horizontal length of a drift PQ measured from a plan is 1000 m and the drift is dipping at
1 in 8 then, calculate the level difference between P and Q

(A) 800 m (B) 250 m
(©)125m (D) 80 m
Channel sampling is used for

(A) In-situ places (B) Heap
(C) Mine Cars (D) Dumpers
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223.

224.

225.

226.

227.

228.

229.

230.

231.

232.

In Hoskold formula which two rate of interests are considered

(A) Bank rate and company rate (B) Inflation rate and local rate

(C) Simple rate and compound rate (D) Safe Rate and risk rate
Gestation period of a mine means

(A) Production period (B) Restoration period

(©) Initial construction period (D) Declining period

One of the main criteria to decide the size of panel for depillaring

(A) Construction of artificial panel (B) Incubation period of coal seam
(C) Depth of cover (D) Systematic support rule of the panel
Which of the following occur first in underground coal mines during depillaring?
(A) Periodic fall (B) Local fall

(C) Main fall (D) Air blast

Chances of span failure is maximum for

(A) Wider gallery (B) Narrow gallery

(C) Staggered gallery (D) Heighted gallery

Rill stoping method is a form of

(A) Block caving (B) Artificially supported stoping
(C) Breast stoping (D) Overhand stoping

Incubation period is not related to

(A) Crossing point temperature of coal (B) Panel size

(C) Spontaneous heating (D) Explosibility of coal dust

In a longwall mining subsidence phenomenon, the “angle of fracture” is the angle between

(A) The vertical line at the panel edge and line connecting the panel edge and zero subsidence
on the surface

(B) The vertical line at the panel edge and line connecting the panel edge and point of critical
deformation on the surface

(©) The vertical line at the panel edge and line connecting the panel edge and the point of the
maximum tensile strain on the surface

(D) The horizontal line and the line connecting the panel edge and zero subsidence on the surface

Match the following for ore handling operations in an underground metal mine

Arrangement Description

P. Drawpoint i. arrangement that prevents oversized rock to pass

Q. Ore pass ii. a system of vertical or near vertical opening for transferring
ore from a stope to a single delivery point

R. Grizzly iii. a place where ore can be loaded and removed

S. Finger raise iv. a vertical or inclined opening used for transferring ore

(A) P-iv, Q -iii, R-1ii, S -1i B) P-iii, Q-iv, R-1i, S -ii

(C) P-ii, Q-iv, R-1i, S -iii (D) P-iii, Q-1i, R-ii, S -iv

Long hole drilling with crater blasting is used for the construction of

(A) Winze (B) Shaft

(©) Raise (D) Decline

ATJ - MASTER ] 28 [ P.T.O.


CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight


233.

234.

235.

236.

237.

238.

239.

240.

241.

242.

243.

If sum of the five angles of a hexagon is 650 degrees, the what will be the measure of sixth angle

(A) 50° @3) 70°

(C) 80° (D) 90°

Underground mining method used for zero subsidence on surface is

(A) Yield Pillar (B) Longwall with caving
(C) Wide Stall (D) BG Method

In-situ solution mining is used for

(A) Coal (B) Halite salt

(C) Sulphur (D) Limestone

Variograms are used in

(A) Costing (B) Geo-statistics

(C) Ventilation (D) Stoping

Assay plan contains

(A) Bearing of line (B) Bench Mark

(©) Grade distribution (D) Surface contours
“Socket” in blasting means

(A) Stemming length in blast hole (B) Remaining part of blast hole after blasting
(C) Joint of blasting cable to exploder (D) Explosive charged length

Before operating the dumper/tipper, the operator shall not personally inspect and test the
following details

(A) That the break, horn, tyre pressure and AVA are in proper working order
(B) That the head light, back light & dash board lights are in working order
(CO) Fire extinguisher is provided

(D) Production efficiency of the dumper

In an underground mine dust concentration is 4 mg/m3. Dust contains 4% free silica. The
concentration is

(A) Same as maximum allowable concentration

(B) Two times the maximum allowable concentration
(C) 1.33 times the maximum allowable concentration
(D) Three times the maximum allowable concentration

Determine the 5 - day BOD for a 15 ml sample that is diluted with dilution water to a total
volume of 300 ml when the initial DO concentration is 8 mg/l and after 5 days, has been reduced
to 2 mg/l.

(A) 12 mg/1 (B) 120 mg/1
(C) 60 mg/1 (D) 600 mg/l
Acid Mine Drainage normally occurs when the rock contains
(A) Quartzite (B) Coal

(©) Pyrite (D) Galena

There are two drilling machines operating closely in a surface mine. Each is producing a noise
level of 60 dBA. What would be effective noise level?

(A) 120 dBA (B) 60 dBA
(©)63 dBA (D) 64 dBA
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244.

245.

246.

247.

248.

249.

250.

251.

252.

253.

254.

If sound level produced by a Dozer in mines is 92 dBA at a distance of 50 m, what would be the
approximate sound level at a distance of 100 m.

(A) 90 dBA (B) 86 dBA

(C) 88 dBA (D) 92 dBA

The most recent model of self-contained compressed-oxygen breathing apparatus is
(A) Proto-1V (B) BG-174

(C) BG4 (D) BG-174A

For a person working in an atmosphere containing 21% O,, the exhaled air contains 4.5% CO,
and 16% O,. The respiratory quotient of breathing is

(A) 0.21 ®)0.9
(C) 0.28 (D) 1.11

The type of fire extinguisher that must NOT be used in case of fire in an electric substation
located in an underground metal mine is

(A) CO, snow extinguisher (B) Multi-purpose dry chemical extinguisher
(C) Foam extinguisher (D) Dry chemical powder extinguisher

The samples collected from the intake and the return gates of a retreating longwall face show
methane concentration values of 0.1 % and 0.8 % respectively. The production from the longwall
face is 2000 tonne/day and the air quantity circulating the face is 15 m3/s. The rate of methane
emission in m? per tonne of coal produced is

(A) 11.0 (B) 5.5

(©)9.s D) 4.5

A coolant is a desirable component in the design of a Self-Contained Breathing Apparatus since
(A) surroundings can be hot and humid during rescue

(B) a rescue worker generates large amount of metabolic heat

(©) exhaled air CO, absorption is an exothermic reaction

(D) exhaled air water vapour has to be condensed

The flammable mixture has 70% CH4. and 30% CO. The lower flammability limits for these
gases are 5% and 13% respectively. For the mixture, the lower flammability limit in % is

(A) 6.13 (B) 8.72
(©) 10.25 (D) 12.16
Convert the air pressure of 10 kg/cm? into MPa

(A) 9.81 (B) 0.981
o 10 D)1

An air sample taken from the return airway of a district contains CO, = 0.40%, H, = 1.17%,
0,=19.92%, N, =78.49% and CO = 0.02%, then the Graham’s ratio for the district is

(A)5.6 % (B)4.8 %

(©)3.0% D)2.3%

What would be the Illuminance at a distance of 3 m of a source of 10 Im?
(A) 3.3 Im/m? B) 1.1 Im/m?

(C) 2.5 Im/m? (D) 4.0 Im/m?

As per CMR 2017, the height of mine opening should be at least

(A) 1 m above HFL (B) 1.5 m above HFL

(C) 2.0 m above HFL (D) 2.5 m above HFL
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255. Scale of the map is 1:2000, calculate the actual distance in meters if the measured length on
map is S cm

(A) 100 m (B) 10 m
(C) 1000 m D)1 m
256. The second component of atmosphere from the surface of earth, where Ozone is found, is
(A) Mesosphere (B) Troposphere
(©) Stratosphere (D) Ionosphere
257. As per the EIA 2006 notification the Mining Lease area of Category A projects should be
(A) 225 ha (B) Between 5-10 ha
(€) =50 ha (D) 2100 ha
258. Rock tunneling Quality Index can be considered as function of 3 parameters, which one is
wrong:
(A) Block size (B) Inter block shear strength
(©) Active joint displacement (D) Active stress
259. Groundwater seepage rate used in CMRS classification for RMR determination: -
(A) L/min (B) ml/min
(C) L/sec (D) ml/sec

260. Strip mining is method of: -
(A) Horizon mining
(B) Long wall mining
(C) Opencast mining with a high degree of mechanization
(D) Underground mining.
261. Salting of an ore body is: -
(A) By adding common salts
(B) By removing salt from the ore
(C) By mixing substances for lowering the values in the ore samples
(D) By mixing substances for increasing the values in the ore sample

262. What is the volcanic equivalent of the Gabbro?

(A) Rhyolite (B) Andesite
(C) Dacite (D) Basalt
263. Splitting of minerals deposit along planner surface is known as
(A) Form (B) Cleavage
(C) Vitreous (D) Streak
264. Which process is known as chemical weathering process?
(A) Expansion due to thermal energy (B) Frost action
(©) Oxidation and Reduction (D) Hydraulic action
265. A narrow vertical or incline excavation made in the ore block along the width and height of a
stope to continue stoping is termed as
(A) Trough (B) Slot
(C) Undercut (D) Ore pass
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266.

267.

268.

269.

270.

271.

272.

273.

274.

275.

276.

2717.

Overriding of gallery incidence is most with

(A) Longwall method (B) Bord and Pillar working
(C) Wide stall method (D) Short wall method

Roof falls are more common, if the face is

(A) Parallel to the main cleat (B) 60 degrees to the main cleat
(O) Right angle to the main cleat (D) None of the above
Support system used in longwall gate roads in general is

(A) Prop and Bar (B) Rock bolts

(C) Dowels (D) Powered supports
Continuous miners are used in underground coal mining for

(A) Development only (B) Depillaring only

(C) Development and depillaring both (D) None of the above

The horizontal entry to an underground working of a hilly deposit is known as
(A) Shaft (B) Ramp

(C) Decline (D) Adit

The following is not a continuous mining technology for surface mines

(A) Shovel Dumper (B) Bucket Wheel Excavator
(C) Surface miner (D) Auguring

The intensity scale of the earthquake is called

(A) Mohrs scale (B) Ritcher scale

(C) Seismic Scale (D) None of the above

The point where the energy is released during the earthquake is called

(A) Epicentre (B) Hypocentre

(C) Circumcentre (D) None of the above

Borehole survey is undertaken for

(A) Measurement of deviation (B) Measurement of drilling rate
(C) Measurement of time taken (D) Measurement of log
Bentonite is used for

(A) Battery charging (B) Mud flushing

(C) Secondary blasting (D) None of the above

A seam is worked at the depth of 120 m from the surface and has a width of galleries of 3.4 m.
What is the size of pillar center to center as per CMR 2017?

@A)19.5 m (B) 15 m
(C) 165 m (D) 255 m

When working approaches waterlogged areas - drilling apparatus used as a precautionary
measure, is

(A) Diamond drilling (B) Safety boring
(C) Jackhammer drilling (D) Chilled shot drilling
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278.

279.

280.

281.

282.

283.

284.

28S.

286.

The layout of the pipelines for hydraulic stowing should be such that the hydraulic profile
(A) Is above the geometric profile

(B) Is below the geometric profile

(C) On the geometric profile

(D) May be at any position with respect to geometric profile

Remote sensing is used for

(A) Design of support (B) Subsidence measurement

(C) Stress monitoring (D) None of the above

Hydraulicking involves -

(A) A high pressure stream of water directed on exposed placer bank

(B) Exploitation of mineral deposits that are loosely consolidated

(C) Extraction of the ore minerals mechanically or hydraulically from floating vessels
(D) Frasch process and leaching

In case of working contiguous seams

(A) The pillars and galleries are to be superimposed, if gradient is less than 30 degrees.
(B) Below seam, should has to be extracted first

(C) The advance of the upper face during development will be leading by one pillar
(D) Simultaneous extraction of both the seams, is essential if stowing is not done

In a fully mechanized Bord and Pillar mining system, winning of coal and its transportation
from the face is commonly carried out with the combination of

(A) Continuous miner, shuttle car, feeder breaker and belt conveyor
(B) Continuous miner, LHD, feeder breaker and chain conveyor

(C) Continuous miner, SDL, feeder breaker and belt conveyor

(D) Continuous miner, shuttle car, feeder breaker and chain conveyor

Cut-Off-Grade of mineral is the

(A) Maximum grade of mining (B) Lean grade

(©) Least grade of mining (D) Average grade
Mining Method with what payback period is considered economical
(A) Least (B) Highest

(C) Infinite (D) Limited

What is the principle amount of Rs. 1210 with compund interest rate of 10% per annum for 2
years ?

A Rs. 1000 (B) Rs. 1200
(C) Rs. 2000 (D) Rs. 1100

The stadia intercept during tacheometric survey is 16 cm then what will be the actual distance
from instrument station to staff station?

(A) 1.6 m B)16 m
(C) 160 m (D) 80 m
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287.

288.

289.

290.

291.

292.

293.

294.

295.

296.

The magnetic bearing of a line is S60°E. If the magnetic declination is 3° due west, then what
will be the true bearing of the line?

(A) S57°E (B) S63°W
(C) S57°W (D) S63°E

The distance between two mines is 8 Km and is represented on a plan by 20 cm line, calculate
RF of the plan

(A) 1:4000 (B) 1:400

(C) 1:40000 (D) 1:40

Calculate the area of the survey block of size 2 Km X 3 Km in hectares
(A) 60 (B) 500

(C) 6000 D) 600

The total cost C (lakh rupees) of a longwall face of length L in m is given by the equation
C = 0.1L + 1562.5/L + 300. Length of the face in m for the minimum total cost is

(A) 40 B) 125
(©) 156 (D) 300

Determine the quantity of ventilating air needed in m3/s, as per CMR 2017, to dilute 2.5 g/min
of coal dust produced in continuous mining to its respirable TLYV, if the dust concentration in
the intake air is 0.5 mg/m?

(A) 16.67 (B)27.78
(C) 55.55 (D) 83.33

A high volume air sampler is operated for 8 hours in a mine with the flow rate of air varying
from 1.5 m3/min to 1.3 m3/min. The weight of the filter paper is 2.30 g the final weight is 2.65 g.
The mean concentration of the Suspended Particulate Matter (SPM) during the study period in
ng/m’ is

(A) 591 (B) 550

(C) 545 D) 521

Calculate the sound pressure level if the sound pressure of sound being measured is 2 Pa
(A) 10 dBA (B) 50 dBA

(C)5dBA (D) 100 dBA

Calculate the approximate RQD if the total length of core pieces having individual length more
than 100 mm is 6.5 meter for drilling run of 12 m

(A) 56% B)54%

(C) 65% (D) 64%

Calculate the effective sound level of 57 dB, 63 dB, 63 dB, 66 dB and 69 dB
(A) 69 dBA (B) 72 dBA

(C) 70 dBA (D) 66 dBA

What would be the approximate dust falling speed of 200-micron size particle
(A) 120 m/s (B) 50 m/s

(©) 12 m/s D) 1.2 m/s
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297.

298.

299.

300.

Gas exchange takes place in the following part of lungs:
(A) Pharyngeal Cavity (B) Alveoli
(C) Trachea (D) Bronchiols

In a mine site, the cost of shaft sinking in lakhs of Rupees is given as 2.64D + 34.8, where D is the
shaft depth in m. In the same site, the corresponding cost of driving an incline is 0.96L, where L
is the length of the incline in m. Assuming L by D ratio is 3.0, the depth in m beyond which the
shaft sinking becomes more economical is

(A) 96 B) 145
(C) 48 (D) 15

The sale value of ore from an open pit mine is Rs. 6500 per tonne. Cost of mining, excluding
stripping cost, is Rs. 2450 per tonne. If the cost of stripping is Rs. 1150 per m3, then the breakeven
stripping ratio in m3/tonne is

(A) 2.18 (B) 3.65

(©)3.52 (D) 4.25

The most dangerous particles size range of coal which take part in explosion
(A)<10pn (B) 10-100 p

(C) 100-200 p (D) 500-1000 p
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